EHAE

B x 7K & +
4R i ] i - 1 2 3
10:00 [ENE: =2
11:00
11:00
~12:00
13:00
~14:00
14:00
~15:30
4 5 6 7 9 10
e | 1Bz fE51 228 (EEIES
iG]
11:00 ICT T a=f= ICT
~12:00 word/excel var 2D_CAD
13:00 B B @k e
14:00 S SaturdayCAFE
5 PYYe 74 13:00~ 15:30
TV 2% RELR SST 15 : 00FFk&
715:30 pap 14:00~15:20 15 : 304%4L
11 12 13 14 15 16 17
DS ez (EEIE 3= LR 3= RIS
iG]
11:00 ICT I Ia=g= ICT
~12:00 word/excel var 2D_CAD
Iy | fERERRE B3R (EEIESS @A
15 : 003FFR EEEE
14:00 SST . 007 R&R
~15:30 - 14:00~15:20 BoEM 15 : 30#%%L
18 19 20 21 22 23 24
~'|°|::°0°0 (ERIE =] (ERIES
PCE @A
11:00 (CSH%/%E) a E _-,_:_/7-— ICT
~12:00 var 2D_CAD
Iy | fERIRRE GRS @A
14:00 SaturdayCAFE
14:00 é?g\%u + R |‘ L X I5: 00%% 13:00~15:30
~15:30 pag] B EEM 15 : 304%%L
25 26 27 28 30 -
| @z (EEIES EHES]
e d= BBfon A
11:00 ICT I a=4— ICT
~12:00 word/excel var 2D_CAD
ol I (GRS (EHESS m#%a
14:00 SST 15 : 00%F /R
~15:30 14:00~15:20 BEEM 15 : 30484L




